61. ‘€€8 ‘113

JENY

188 ‘€67 ‘8 = — Q2D T B K GRS — HE TS E U4
965 ‘€87 ‘6 = — QLTI R S — HETHSE W EUE
g2 ‘998 ‘€52 — — RMEEHHZ TR I = HETBSETE
CERILLEE T/ HETHIFOWO X
L86 ‘928 ‘FL NG
GLE ‘286 ‘ST — — — HE R 6L T S L.
219 ‘¥6¢€ ‘85 — — —| - HBRIGHNEESF T R L
TE2IQAOTBE Ok SEEMBSRYEY HE 'R |5 L) SyEr
009 ‘0£9 2\
009 ‘0€9 — — BYNHO¥EENYE = SHNESENS L
_ _ SN
89/ ‘232 —| = (1355 A F — HEELEYH : %
2¥6 ‘132 L0Z 01¢€ ‘¢ 6¥%1 ‘280 ¥ W EHE — HEREEEYH WENO N EE
HEZE OO (2)
000 000 'T EC RPN
000 000 'T — — = TSI
HYE (1)
HEXE ¢
8LG "LTT 'L , o HEHEY
9EL 9LL — —]| w1 E R = Azl
L18°LL — — BEHTHSBMLNED — K% 1A
LLS ‘8LZ ‘F1 — — SR e - HE — SRS E S
8¥¥ ‘786 ‘12 N
G99 ‘728 — — PROEE 2 & rid — (19276L10G %) F-LHE) I
9% ‘16% — = 2N IS ETE = (0981919) [ YEMEV [ LHE
ge9 ‘Fal — = 21 2 S EThE = (¥98¥) & B (2L S HIR R
00% ‘69€ Z — = 2N IS EHE — (SPOL NI -\ S HIE R
25% ‘299 — = 2 T — (V)N —+\THER
89 ‘%L ‘C — — PRGOS 2-Lt 14 — (6226€) G R2ANNI— -V BHE R
€2L €TV V1 — — 2N IS BGE — Q19N M=+ \/ S HEH
_ _ THIES
000 ‘092 — — 21 R B — —4AATEPSCE LBy
089 ‘19 — — 2N RS BTE — ST WE AN
_ T
THLS Y
HB@EYW T
_ — BOHE 1
A m@éﬁmmﬁﬂm B AL W I R e HZ W5 X F0HH B3 Hal HEG - W H RS
- I
Bl HICHE H9 S
L =| H M
T YN

(¢ & Y F:1000] v -4




689 '159 982

HE W&
608 9GZ ‘111 HSHY
186 92€ FL S E Y A
186 9Z€ TL FENY
796 ‘L92V — (HEHTRIE
790 ‘716 ‘€ — CIESREANE
£0% ‘F0L ‘61 — V4 HrASE
LR |6 ST T
086 ‘¥6L ‘1V — EDTRIE
268 ‘18L €V — EHE)TRI|E
¥S¥% ‘116 €9 — ) SR
| | L R|6 ST T T R =L
SRYTMBSTUIT SR |G SFREL
HYIE 2
328 '6¢6 9¢ ESH B EY
008 '€96 '8 EN,
008 ‘€T ‘T — (CENBXIHBR|E
000 ‘628 ‘1 — _ (EHEH)SRIE
GHOLYXHO TRIEEHE
116 ‘606 ‘T YENG
95¢€ ‘789 — HEBY s T e T aElEoOomo x>
8% ‘9¢1 — CEHYYERFHTL HE T 0BT S HBET
919 ‘12 — WEEEOE R e & 0 BRI
160 ‘291 ‘1 — LEHYYEHSEUSHRELHE < 0 B SH
T ELE
€16 .88 ‘0T — TENERILE LB B
886 ‘9971 ‘GI — wEHEFISHE RIS
HYmY 1
HOBY 1
867 716 L6E o HE
026 '96. "09¢ HESHE IFH
026 ‘96L 6G¢ SCHENEFEOHO X
%06 ‘090 o1 IENZ L
%06 ‘090 ‘1 — QLTI E 2 0) 5 — _ HOHE HE RN DT EF
i <) B o R 21 Co BT TH BN HETE OO X




